SmallRig

Super Clamp Support Kit
RAEZEZEH

Operating Instruction / #{E#E3|




- Thank you for purchasing SmallRig's product.
fEMESE SmallRig 7= &

- Please read this Operating Instruction carefully.
ERAFTRZE, BFRNZREES.
- Please follow the safety warnings.
EERMAESRTITUEERRFESINMERES.

In the Box / B35 &

Super Clamp Guarantee Card
KA%K Rig+
1/4"-20 & 3/8"-16 Top Screw

1/4"-20 & 3/8"-16 THAL

Product Introduction / =@+ 43

S~~~ 1/4"-20 Screw

M5 Thread Hole

— —-3/8"-16 Screw
- - ~-1/4"-20 Threaded Hole

5/8" Hexagonal Female -




Super Clamp Installation / X1%R%

~ = —-1/4"-20 Screw

@ Press / 12

Rod 10mm - 60mm in diameter
AR BH210 ~ 60mm

Silicone Padding
iR

Surface thickness up to 50mm:
FEEE: <50mm




Notes / ;X EEBIR
1. Please do not subject the product to severe collisions or impacts
B R R RIZR SR,

Specifications / F=RE%]

Phone Case Dimensions 39x57x17in
FERRY 100.0 x 146.0 x 44.0mm

Product Weight 19.7+0.20z
FRER 560.0 + 5.0g

Material(s) Aluminum Alloy

EEMR Fa®

HATIRAE: GB/T 26572-2011

Manufacturer: Shenzhen Leqji Innovation Co., Ltd.

Add: Rooms 103, 501 and 601, Building 5, Fenghe Industrial Park, Nos. 1301-50 Guanguang
Road, Longhua District, Shenzhen, Guangdong, China.

HHER: AT REFARLBIRAT)

Hoht: cPEARE R X ILBENETEL XA 1301-50 SEMTWRE 7 5k
103, 501, 601

Consignor. Shenzhen LC Co., Ltd

Add: Rooms 602, Building 5, Fenghe Industrial Park, No. 1301-50 Guanguang Road, Xinlan
Community, Guanlan Street, Longhua District, Shenzhen, Guangdong, China.

Z5m AT ARRRERAT

Huht: PESARERYITRERIBEENEAL KW 1301-50 SFEFTY

C€ ROHS ® & &

Séparez les éléments avant de trier PEHE




